
 

 
 

 

Important Safety Instructions 

Read the instructions carefully and look at the equipment to become familiar with the device before trying to install, 

operate, service or maintain it. The following special messages may appear throughout this document or on the 

equipment to warn of potential hazards or to call attention to information that clarifies or simplifies a procedure. 

 

The addition of this symbol to either a ñDangerò or ñWarningò safety label indicates that 

an electrical hazard exists which will result in personal injury if the instructions are not 

followed. 

  

 

This is the safety alert symbol. It is used to alert you to potential personal injury hazards. 

Obey all safety messages that follow this symbol to avoid possible injury or death. 

 

 DANGER 

DANGER indicates a hazardous situation which, if not avoided, will result in death or serious injury. 

 

  WARNING 

WARNING indicates a hazardous situation which, if not avoided, could result in death or serious injury. 
 

  CAUTION 

CAUTION indicates a hazardous situation which, if not avoided, could result in minor or moderate injury. 
 

NOTICE 

NOTICE is used to address practices not related to physical injury. 

Product Handling Guidelines 

 

Installation Guide Smart-UPSÊ RT  
Parallel kit SRTGPK01 



2 Smart-UPSTM RT Parallel kit SRTGPK01 

Safety and General Information 

Inspect the package contents upon receipt. Notify the carrier and dealer if there is any damage 

Å This parallel kit is for indoor use only. 

Å Do not operate this parallel kit in direct sunlight, in contact with fluids, or where there is excessive dust or 

high humidity. 

Å Do not operate the parallel kit near open windows or doors. 

Electrical safety 

Å Connection to the branch circuit (mains) must be performed by a qualified electrician. 

Å The protective earth conductor for the parallel kit carries the leakage current from the load devices (computer 

equipment). An insulated ground conductor is to be installed as part of the branch circuit that supplies input 

power to the UPS. The conductor must have the same size and insulation material as the grounded and 

ungrounded branch circuit supply conductors. The conductor will be green and with or without a yellow 

stripe. 

Å The grounding conductor is to be grounded to earth at the service equipment, or if supplied by a separately 

derived system, at the supply transformer or motor generator set. 

Hardwiring safety 

Å Verify that all branch circuit (mains) and low voltage (control) circuits are deenergized, and locked out before 

installing cables or making connections, whether in the parallel kit or to the UPS. 

Å Wiring by a qualified electrician is required. 

Å Check national and local codes before wiring. 

Å Select wire size and connectors according to national and local codes. 

Å Strain relief is required for all hardwiring. 

Å All openings allowing access to parallel kit hardwiring terminals must be covered. Failure to do so may result 

in personal injury or equipment damage. 

  



 

 Smart-UPSTM RT Parallel kit SRTGPK01 3 

Package Contents 

Inspect the contents upon receipt. Notify the carrier and dealer if the unit is damaged. 

M5 Floating nut to secure the 

Parallel kit to the pillar 

 
(x4) 

M4x6 flat head screws to 

secure the rack-mount 

brackets  

 

 
(x8) 

M4x8 Phillips flat head screw 

to secure terminal box 

 
(x16) 

M5x12 Phillips flat head 

screw to secure the Parallel kit 

to the pillar 

 
(x4) 

M4x8 screws to secure the 

jumper to the UPS 

 
(x6) 

M6x16 screws to secure the 

jumper to the UPS 

 
(x4) 

M10x25 screws to secure the 

jumper to the UPS 

 
(x1) 

MBS signal wire 0.64 m 

 
(x2) 

Stabilizer bracket 

 
(x2pairs)  

Stabilizer bracket 

connectors 

 
(x10) 

Packing list 

 
(x1) 

Installation manual 

 
(x1) 

Jumper SJ10 (1:1, dual feed) 

 
(x1) 

Jumper SJ11 (1:1, dual feed) 

 
(x1) 

Rack-mount brackets 

 
(x1pair) 

Input Neutral terminal box 

 
(x1) 

Input Phase terminal box 

 
(x1) 

UPS Neutral terminal box 

 
(x1) 

UPS Phase terminal box 

 
(x1) 

Jumper SJ8 (3:1, single 

feed) 

 
(x2) 

Jumper SJ9 (3:3, single 

feed) 

 
(x3) 

Jumper SJ1 (*3:3, single 

feed) 

 
(x6) 

Jumper SJ3 (*1:1, dual 

feed) 

 
(x2) 

Jumper SJ4 (1:1, dual 

feed) 

 
(x2) 

Jumper SJ6 (*3:1, dual 

feed) 

 
(x2) 

Jumper SJ7 (3:1, single 

feed) 

 
(x2) 

 

 

 



 

4 Smart-UPSTM RT Parallel kit SRTGPK01 

Jumper SJ12 (3:1, dual feed) 

 
(x1) 

Jumper SJ13 (3:1, single 

feed) 

 
(x1) 

Jumper SJ16 (3:1, dual 

feed) 

 
(x1) 

Jumper SJ17 (3:1, dual 

feed) 

 
(x1) 

*1:1: 1 phase input / 1 phase output 

*3:1: 3 phase input / 1 phase output 

*3:3: 3 phase input / 3 phase output 

Hereinafter referred to as ñ1:1ò, ñ3:1ò and ñ3:3ò respectively. 

Optional accessories (not supplied) 

 

Terminal and shrink tubes (factory default: 1:1) 

Terminal  Heat shrink tube 

 

Recommended terminals and heat shrink tubings (not supplied) 

Terminal 

 

 

3:1 

16 mm
2
 - ū6 mm ï x8 

25 mm
2
 - ū6 mm ï x10 

35 mm
2
 - ū6 mm ï x10 

70 mm
2
 ï ū10 mm ï x3 

120 mm
2
 ï ū10 mm ï x3 

3:3 

10 mm
2
 - ū6 mm ï x10 

16 mm
2
 - ū6 mm ï x18 

25 mm
2
 - ū6 mm ï x9 

25 mm
2
 ï ū10 mm ï x5 

Heat shrink tube 

 

 

 

3:1 

ū8x30 ï x8 

ū10x30 ï x10 

ū12x35 ï x10 

ū20x50 ï x6 

3:3 

ū8x30 ï x28 

ū10x30 ï x9 

ū12x35 ï x5 

25 mm
2
 - ū6 mm ï x6 

35 mm
2
 - ū6 mm - x10 

70 mm
2
 -ū10 mm - x3 

120 mm
2
 - ū10 mm - x5 

ū10x30 - x6 

ū12x35 - x10 

ū20x50 - x8 



 

 Smart-UPSTM RT Parallel kit SRTGPK01 5 

Specifications 

Environmental 

 CAUTION  
RISK OF EQUIPMENT DAMAGE 

Å Parallel kit must be used indoors only. 

Å The installation location should be sturdy to withstand the weight of the parallel kit. 

Å Do not operate parallel kit where there is excessive dust or where the temperature or humidity are 

outside specified limits. 

Failure to follow these instructions can result in equipment damage. 
 

Environmental 

Temperature 
Operating 0 to 40 ÁC (32 to 104 ÁF) 

Storage -15 to 45 ÁC (5 to 113 ÁF) 

Maximum Elevation 
Operating 

0 - 3,000 m (0 - 10,000 ft) 
0 - 1,000 m no derating;  
1,000 to 3,000 m, 
power reduction of 1%/100 m 

Storage 0 to 15,000 m (0 to 50,000 ft) 

Humidity 0% to 95% relative humidity, non-condensing 

International Protection Code IP20 

Physical 

Input specifications 

Nominal input voltage 220/230/240 VAC 380/400/415 VAC 380/400/415 VAC 

Model 1:1 3:1 3:3 

Input connection 
Hardwire connection 

(L+N+PE) 

Hardwire connection 

(L1+L2+L3+N+PE) 

Hardwire connection 

(L1+L2+L3+N+PE) 

Input voltage range 100 to 285 VAC 173 to 493 VAC 173 to 493 VAC 

Maximum Input Current  248.2 A 82.7 A 82.7 A 

Load Capacity 40 kVA 40 kVA 40 kVA 

  

Unit weight without packaging 20.7 kg 

Unit weight with packaging 28.9 kg 

Unit dimensions without packaging Height x Width x Depth 131 x 440 x 660 mm( 5.16 x 17.3 x 26.0 in.)  

Unit dimensions with packaging Height x Width x Depth 260 x 590 x 790 mm (10.23 x 23.2 x 31.1 in.) 



 

6 Smart-UPSTM RT Parallel kit SRTGPK01 

Output specifications 

Output power capacity 40 kVA / 40 kW 40 kVA / 40 kW 40 kVA / 40 kW 

Nominal output voltage 220/230/240 VAC 220/230/240 VAC 380/400/415 VAC 

Model 1:1 3:1 3:3 

Output connection 
Hardwire connection 

(L+N+PE) 

Hardwire connection 

(L+N+PE) 

Hardwire connection 

(L1+L2+L3+N+PE) 

Maximum total current  181.8 A 181.8 A 60.6 A 

Overload Protection Yes Yes Yes 

Torque specifications 

Bolt specifications Torque 

M4 1.7 Nm (1.25 lb - ft / 15 lb - in) 

M6 5 Nm (3.69 lb - ft / 44.3 lb - in) 

M8 17.5 Nm (12.91 lb - ft / 154.9 lb - in) 

M10 30 Nm (22 lb - ft / 194.7 lb - in) 

 

  



 

 Smart-UPSTM RT Parallel kit SRTGPK01 7 

Tower Installation 

 

 Assemble stabilizer bracket. 

 

 Change the orientation of the UPS1 to tower orientation. 

 

 CAUTION  
RISK OF FALLING OBJECTS 

Å The equipment is heavy. Each battery module weighs 24.5 kg (54 lb). 

Å Always practice safe lifting techniques adequate for the weight of the equipment.  

Å Remove the battery modules before installing the UPS. 

Å Use the battery module handle to slide the battery modules in or out of the UPS.  

Å Do not use the battery module handle to lift or carry the battery module.  

Failure to follow these instructions can result in equipment damage and minor or moderate injury.  



 

8 Smart-UPSTM RT Parallel kit SRTGPK01 

 Install the UPS1 module and battery-pack1 on the stabilizer bracket. 

  

 Install the Parallel kit on the stabilizer bracket. 

  

  



 

 Smart-UPSTM RT Parallel kit SRTGPK01 9 

 Install the battery-pack2 on the stabilizer bracket. 

  

 Install the UPS2 module on the stabilizer bracket. 

 

  



 

10 Smart-UPSTM RT Parallel kit SRTGPK01 

 Install 4 battery modules into each battery pack. 

 

 Secure the battery modules to the battery pack with 16 screws. 

 

  



 

 Smart-UPSTM RT Parallel kit SRTGPK01 11 

 Secure the battery compartment door to the battery pack with 12 screws. 

 

 Install the front bezels of UPS modules and battery packs. 

 

 

  



 

12 Smart-UPSTM RT Parallel kit SRTGPK01 

Rack Installation 

 

 Secure the rack-mount brackets to parallel kit with 8 (M4x6) screws. 

 
 Install the rail kit to the Rack. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parallel kit SRTGRK1 
UPS SRTGRK1 

Battery pack SRTGRK2 

  

 CAUTION  
RISK OF FALLING OBJECTS 

Å The equipment is heavy. Always practice safe lifting techniques adequate for the weight of the 

equipment. 

Å Always use the recommended number of screws to secure brackets to the UPS. 

Å Always use the recommended number of screws and cage nuts to secure the UPS to the rack.  

Å Always install the UPS at the bottom of the rack. 

Å Always install the XLBP below the UPS in the rack. 

Å Parallel kit and UPS rail models are the same (SRTGRK1). The model of XLBP guide rail is 

SRTGRK2. 

Failure to follow these instructions can result in equipment damage and minor or moderate injury.  



 

 Smart-UPSTM RT Parallel kit SRTGPK01 13 

 Install the 20 floating nuts to the rails of the Rack. 

 

 Install the UPS1 into the rack. 

 

  



 

14 Smart-UPSTM RT Parallel kit SRTGPK01 

 Install the battery-pack1 into the rack. 

 
 Install the Parallel kit into the rack. 

 

  


